ardlas v

Qe IX | dd ardl@s Avadddl gFRuaml A3y s oA dinl 28U Avadl ol 210 usau
UG ARdAls dval-l wul g vl el [Bewdt 1.2 @A 1.3 4l yaiisil wor o
BolcdeL e, YlsasHl owol wAR A sl Youed uduel wier 539

lsasdl cuor wald’ o eaid @ 3, dd yalsidl [Aonudl wd 655 2ieln 8. wa
AL 512 dl S1S uaL A yails @ A olloa SIS 4e YRS b Al cuoldlMl vd, dl el 9w 7 9l
A d b sl Al Sld drmiel el eudtl veniel seia eudusie aucifas alell uzu
a3 dlomdl ¢l A 5, L uReud vor o Al ealdl A AHD wsd, Odl YRuisisl
[ouoddinl el Aoil d-L aRll ol GUAIL B, U8 duidL Sedls AMY A dsil Guylal
Yoy 6L 4ot YRUSIAL OLALL. (A AHIRYL viddd, HCF 2184l GCD) ital w2 5309,

W WAL 2i5ARAAL HOGd UHAHL 4 YRUSIAL dRusiR-l did »ud 8, dd el 9L 3,
g5 [Aouo yalsa 2ifacio yaisidl apusik ddly v Ad saldl 25, 2 2ol dRias
2isouldiad Hacid uHd . o uReuy aadiel saldl A Aaxendl as Ul HsARidnl
Hoeld UHAAL 6L Hud dely GuAlal s3gl. del oUBlddl &l sedls vot % GlAL vt dinulat

1.1 wedlas

~C

GUALRLL €9, d¥ HIRQL IX Hi el 541 9 5, V2, 3 2 5 ol el odl qvaivid vy
AUBA 5L AL UHY QU 6,
6ll%f, il UAUHAL Gualol, AR Avadl £ (g # 0) il salisl AR5 S0 Al €A A SR
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$3i uiu-viz- AUSHL ARAUHL 20d dl, AR $3i ous) 21,
$3i £9-¢9-11 AHSHL ARAUHL 21d dl, i $3i oud 21,

A 53 Ald-Ald-l AUSHL ARAHL 209 dL, 51 {Sg' o él A Q.
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UE UHA 1131 20la Y5 eousid yd uHy aula €l
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a-il uaw aud iy Y548 (Euclid)4l Elements Book-VII Wi QS ¢d\l. ylsas+l euauldla
(Euclid’s division algorithm) Y\ 4a-u8y U2 208Rd 8.

The
the

An algorithm is a series of well defined steps
which gives a procedure for solving a type of
problem.

al-Khwarizmi. In fact, even the word ‘algebra’
is derived from a book, he wrote, called Hisab
al-jabr w’al-muqabala.

A lemma is a proven statement used for proving
another statement.

word algorithm comes from the name of
9th century Persian mathematician

Muhammad ibn Musa al-Khwarizmi
(C.E. 780 - C.E.850)

G

RIS

=N

-~

2ALUBL

-~

-~

ylsasdl aor-ulaf 2 wutal o g yaisidl oLt alaar el uEak ©. gL ad uq
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q :

ylsasnl cousiR YauRd i calal® vor o desdl dsella WA Bdal Sl dist
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ANa=2q+1d av2ad@Qeumry A da g 2 a3 aLdl 1 AN all 8. il vails a A

YU Yalls 58 8.

A a3 2g Al WAL S dl @ Yox yals 8. aoll S5 ual 4a yails You padl 2wy IS ul.

W2 SIS UBL UM U YUls B 2g + 1 A3uul 1,
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ALALM. (420, 130) WHdl ASH. L dLuLG. e25 AWlHl 8d oSl Hedd AvAL Ad A
Auladiel Avdl wel qydy 2l el diASHE AUAAA AUl UBL dEdH ALY,
gd dedl ALALAL. dHdl W Y5 ulARAL Guatlal s,
420 = 130 x 3 + 30
130 = 30 x4 + 10
30 =10x3+0
el 420 24 130 1L oLAL2. 10 2.
w2 d HlelSalr e3s auilul siS el usiHl esl-l vl 10 uvil a3,
A4 eds quflul 681l AL AvAL d G, dL 420 dal 130 ol d 943 [Reuad 9. audlaiidl

. 420 130 ~ ~ . ~ . ~ a1 b ~ ~
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2lagds 9. el d = LUl (420, 130).

Al 1.1
1. yfsasHl cuamfalBdl Guaial 530 oL, lidl
(i) 135 21 225 (i) 196 A 38220  (iii) 867 it 255

2. ealdl 3 515 uel 210 b yails vl 5155 Yails g W2 6g + 1, A4l 6g + 3, Al 6 + 5
usil €1 us,

3. w5 desd 616 UKD %A AL 6wl 32 AcAlAL Ul su s3I @, 9. 6l gU AHIA
Avall el 5% 53 @O, d % AMHL 52 53 WL O ddl S URL AMHL HTH Sedl
AL 8ol ?

4. yfgasHl aamfafidl Guaol 30 ealdl 5 SIS uel 4 yaisdl asl 5155 yals m w2 3m
2Ydl 3m + 1 [AIUHL 1AL
[ ¢ 2R 5 x S5 Hd yals & dl d 3¢, 3¢ + 1 224l 3¢ + 2 A3UHL 1. &d g3s-l A9l
53 24 saldl 3 s34l AR 3m al 3m + 1 2a3uHl avl wsia.]

5. ylsesd cwousiad ydudy alA ealdl 35S uel 4 yRilsHl as 9m, 9m + 1 adl
9m + 8 |3IU~l Sl

1.3 2isd{ HOUHd UAU

UG HIRBUHL d¥ A 6 5 SIS usl glas Avad d-l AU vaudiqdl dRusik 3u dvl

AslA. Belewl dls, 2 =2, 4 =2 x 2,253 = 11 x 23, i 2L UHIEL 212100 a4l Asl.

wd, 2UuBl Muglas Avalle oflg Wl wal uact sA2L SIS uL wuglas Aval Alaeusd Avalic
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sl ol wsu? WAl 2UURL BB AHAGUFA ALABAAL SIS uRL AR dl. GelsR dils, 2,
3,7, 11 24 23, uusl sedls taal ol o Avaiiidl oRuste 5302 id ULl $2dl2 dedl avid
A wruddn sail e 2uulal dl 2wl edloll Avanl 4 yaisl Hadl aglal, (WRvR dl, ted
Avyail) ALl UL sedls ALl oiricla,

7 x 11 x23 =1771

3 x7x11x23=5313

2x3x7x11 x23=10626

2’ x3x 7 =8232

2% %3 x 7 x 11 x 23 = 21252 49 4L Uwdl...

8d, "I 5 dHIRL A[AGUE ALUDAAL AYSHL ol o AU w[AGUIU AU @Bl dl i
AHSL 58 B2d A d W2 dWID 9 el 97 9 dul Wl [ vmi o yails ol ? sl
rid AvaHL Yeisl ¢A? vW dl vidd dAvai ldenod vzl O, wuel, %l sl ol o
vqeuoy Avuipiia U Id AlsolA dl, ol o qlacuo qoal vt ol o ¢[acued duadidl
UM AsH JRUSIRL AS BUURL sid AvAUBAL uye Hadl wslal ugl B9 5 suusl ol ¥
[eua Avasil 2L dAd dadl aslA? di g [l 917 dd [GaRl 9L 5 % acuod Avalid
Bldel oRUsIR L ¢ld ddl SIS (A Aval seld A7 UL G Ul d uddl, Al >Uusl Y-
yallsid vaudlse 35, 2l 2008 ¥ 54 8 d-iel Gladl uBul s,

NN

UG ddA URRA 2l vadd el Gualol s AL, ULl SIS MIEL vl asul FHs
32,760 i U010 galledl UHISL iy Wl

32760

2 16380

2 8190

2 4095

3 1365
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el BB 32760 3L 2 x 2 x 2 x 3 x 3 x 5 x 7 x 13 %l Aldeuzd Avdipii-dl RIS 3u
wa, 6.

el 32760 = 23 x 32 x 5 x 7 x 13 < vifAcued Al dld-l 2Rusiz 30 saldl as,
ALl >Uusl ol Avdl 123456789 aAsilxl. d 32 x 3803 x 3607 dils avil asid. MRUR dl dHIR
ulal 529 A9 5 3803 2 3607 wildcud Avdapl 9] (AHdl wad ollw sedls wslas dAvail
e ulael 52 B oded duued Al fReL dis ekl U 9 5 es [Aeued v nAlaeusy
AvABUAL 8Ll oLRUstR a3 @vll Astd, WM dl vl (@A A B, Yalsil e w2 ddl
wall FRitas ofis dlaell ad 2i50/8dd 4aed uHY s B,

Al 208 ¢d 21 uHAA BuARs Ad saldl,

WA 1.2 (AR HOMd WRA) ;g5 [Qeuoy Hvaud, dul HdAdldl sHq QAR
2lacury vzl sk dls 2y 2d qvil asi .

An equivalent version of Theorem 1.2 was probably first
recorded as Proposition 14 of Book IX in Euclid’s
Elements, before it came to be known as the
Fundamental Theorem of Arithmetic. However, the first
correct proof was given by Carl Friedrich Gauss in his
Disquisitiones Arithmeticae. Carl Friedrich Gauss is
often referred to as the ‘Prince of Mathematicians’ and is
considered one of the three greatest mathematicians of all

time, along with Archimedes and Newton. He has made Carl Friedrich Gauss
(C.E.1777 — C.E.1855)

fundamental contributions to both mathematics and science.

visolBldd Yaod uHd gald 9 3, e3s [Aeumd Avald AU ALUIAL RUSIR 43U
audlsael 53 asid. $SlsdHl d 595 Ay eald 9. d suld ® 3 wud 56 uR [eued Aval d-l
QUAlAL sHA QA 240800 AvALAAL dRUSR dls 2 dd [H3uR 530 as.

2L vl 2uA 515 uRl (Ao A A AvALAL JRISR dE 2 dd saldl
A5 i Al 59 vifAcum Aval sUL s MO d e UL AlssA L LS wslpl. Belsel ddls
JALSIRML eldd AvAL 2 x 3 x 5 x 7 A 3 x 5 x 7 x 2 iy ual oflw S5 usl sy
suul ealdd i AU AvAla @uilal dldoeEl ISR WM 8. L eslsan Al a3l
wal galdl ws.

1 4l H2) 5165 uw wslas v 24[QAeUFd AHAAAIH] HAUSQ il $H7 HQARNA dl 247y
gl 6.

ays dd, 2 [@euwy qvdl x (L 2ul x = p, p, ... p, dis avl wsly, i p, p,. L p,
o ifGouzd AvaIpll © A Adl sHHL avidl O, wed 5 p < p, < LS p ool BUSL UM
wfacuo Avasiic R, dl v 2faciad Aval-dl dld Ha. Gelgel dls,

32760 =2 x 2 x 2 x 3 x3 x5x7x13=2"x32x5x7x13

5 quid AL A8l 5321 5, LA AL Al $HHL S ol UL, AHAUALEWL A, €4l
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AMAHL Al oflogt &AHL 2i5AMdAL HOAGd UHAAL s GUAdL 8. Al 20Ul s2dis
BelgRell AN,
BEIS2WL 5 ¢ 5155 U Yalls n HI2 47 Al Bedl vis 9 ¢l § 54 d [FEld s,
B5A @ %l 515 uRL Hel Yells n W2 AvUL 47 Al Dedl 25 U Sld, dl d 5 Ay [[eno €. vl 47
Al AU AAUAML 5 Slel BSB. 2L AU Al S10L 5 47 = (2)2 0l 47 Al vaudlseml
s o AAG Yails 2 Mol il sl HOod UHAL HAAAAL DA AR A5l AU D 3

N

47 AL vaudlsadl 2 R ol 518 stldenesd Aval gl e sl wslis vl o Adl 4 1A 5
el M 47 Al ilAd vis 9d S,

UG HRQIHL d¥d HsABIdAL YAMd UAUAL U Fd Gedu sul A2 6L 4 YRSl
Al AT d.ALA. (4YdH AIHI~4 2qud, LCM, Least Common Multiple) 08l 2+ o
9L, 21 Ugla 2lAcuon viaudlse uglt ddld ua 2invid 8. Aldl 2048 21 Yeldd Gelsal g2l
e 53,

Beldl 6 : 2Alacuod viaudlsel wgldel 6 24 20 Al AL 2 QAL WAL

Bia : 2Rl WA 6=2' x 312,20 =2 x 2 x 5 =22 x 5! gy,

SRUGHL HIRBUHL R, © d¥ dH SLALY. (6, 20) = 2 i AL (6, 20) =2 x 2 x 3 x 5 =60
wadl sl

%L 3, AL, (6,20) = 2! = UL AvARIHL WAL AHL QU SHaUA-L UL
AL BlisAUN] UELAL dLRUSIR

AALBL (6,20) =22 x 31 x 51 = Ul JvWHl WAL A 2A[AGUFL AHAUALAL HETIH
BldisAol gLl dpRusIR

BuRl GeleRML di %y 82 & LA (6, 20) x dAL. (6, 20) = 6 x 20.

BRUR dl Sl A5l w2 5 SIS uelL 6L e yaulsl, g v b W2

oLALA. (a, b) X Q.. (a, b) =a X b UA.

A 6L Ut YRUSIAL OLALBL HUA S dl UuBL L uRBIHAL Guaial 530 duHl @t il sl

BELSAVL 7 2 96 it 404 AL oL UL lAcurd 2aud-l A Aadl 24 d wel d-dl d.aLt. 2UHL

B5e : 96 A 404 < AL vaudls@l 96 = 25 x 3, 404 = 22 x 101 4L,

el 2L oid YRISIHL AL = 22 = 4,

96 x 404 96 x 404
oLAULML. (96, 404) 4

Quil, AL (96, 404) = = 9696

Gergel 8 ¢ vfacurd andiql el 6, 72 - 120 -l ALAL2L. A d.AL>L AL,
Be : wuunll WA,
6=2x3,72=23x32,120=2>x3 x5

-~

], A Q4L SHgsH 2 24 3 oAl Al el s 20 2 31 6.
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el oLAULL (6, 72, 120) =21 x 31 =2 x3 =6
UL AR AL 2%, 32 i 51 2L H[Aeusd 2audl 2, 3 24 5 Al Hiewl HiEl wud 6.
e, @l (6, 72, 120) = 23 x 3% x 51 = 360
A4z ol 3, 6 x 72 x 120 # 3LALA. (6, 72, 120) x @l (6, 72, 120).
lefl 218l AvABIAL ARUSIR dMAAL LU, Sl AULLAL ARUSIRA AL L UL Sl
Y 1.2
1o <Al e3s v dnl Aoy Haddidl ARISIR @3 saldl :
(1) 140 (i) 156 (1i1) 3825 (iv) 5005 (v) 7429
2. <A 2uha yalsi-l A oLALL A AL WEL 2R
AALM. X QAL = olrl YRUSIHL ORISR Al B dd ASIRIL
(i) 26 14 91 (i) 510 24 92 (iii) 336 A 54
3. <A 2ula YRS acued vayasl Ad AL, A duL. AL
() 12, 15 214 21 (ii) 17, 23 211 29 (iii) 8, 9 1+ 25

4. ol o UL (306, 657) = 9 U Sld, dl AL (306, 657) L.

5. 8155 mglds Aval n AR 67 AL vild s g A 5 Al d ASRIL
6. AHAUS T X I X I3+ 13T x 6 x5 x4 x3 x2x 1 +53 ol We [Qcued dvasil ¢ 7
7. s WAL Helddl ddousik Wol 9. AlFAA A 2 uRera yel sl 18 FlHe @l 9,

1R AAA A s uReH Yol sl 12 B @l 9. Q1RL 5 oid 215 o AHA, s o [Bigidl,
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C.E. is an abbreviation for Common Era
B.C.E. is an abbreviation for Before Common Era
C.E. and B.C.E. are used in exactly the same way as AD and BC.

17




